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E–400 

M. A. (Second Semester) (Main/ATKT)   

EXAMINATION, May-June, 2021 

ECONOMICS 

Paper Second 

(Macro Economics) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- tc dher rFkk csjkstxkjh c<+rh gS % 

¼v½ LQhfr 
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¼c½ eanh  

¼l½ iqu#RFkku 

¼n½ fu”ian LQhfr 

When price and unemployment both are increased : 

(a) Inflation  

(b) Depression  

(c) Recovery  

(d) Stagflation  

2- csjkstxkjh dh izkd`frd nj og gS tgk¡ % 

¼v½ eqnzkLQhfr dh nj fLFkj gksA 

¼c½ eqnzkLQhfr dh nj vfLFkj gksA 

¼l½ eqnzkLQhfr dh nj fxj jgh gksA  

¼n½ eqnzkLQhfr dh nj c<+ jgh gksA 

Natural rate of unemployment is the rate at which : 

(a) Rate of inflation is stable.  

(b) Rate of inflation is unstable.  

(c) Rate of inflation is falling.  

(d) Rate of inflation is rising.  

3- fodqafpr fQfyIl oØ nsu gS % 

¼v½ g”kZesu dh  
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¼c½ txyj dh  

¼l½ VkWfcu dh  

¼n½ ÝhMesu dh  

Who introduced kinked Phillips curve ? 

(a) Harshman  

(b) Jagler  

(c) Tobin  

(d) Friedman  

4- ßeqnzkLQhfr lnSo ,d ekSfnzd ?kVuk gSAÞ bl /kkj.kk dks fdlus 

fn;k \ 

¼v½ fodlsy 

¼c½ dhUl 

¼l½ ÝhMesu 

¼n½ gsUlu 

“Inflation is always a monetary phenomenon.” Who has 

given the this concept ? 

(a) Wiksel  

(b) Keynes  

(c) Friedman  

(d) Henson  
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5- ßeqnzkLQhfr vkSj csjkstxkjh dh njksa esa foijhr laca/k gksrk gSAÞ bl 

fl)kUr dks fdlus fodflr fd;k gS \ 

¼v½ fQfyIl  

¼c½ ÝhMesu 

¼l½ VkWfcu  

¼n½ lksyks  

“There is inverse relationship between inflation and 
unemployment rates.” Who has developed this theory ? 

(a) Phillips  

(b) Friedman  

(c) Tobin  

(d) Solo  

6- izeq[k O;kikj pØ dh [kkst fdlus dh \ 

¼v½ txyj 

¼c½ fdfpu 

¼l½ dksUnzkrhQ 

¼n½ dqVuslsl  

Who discovered major business cycle ? 

(a) Jagler  

(b) Kitchen  

(c) Kondratieff  

(d) Kutnesses  
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7- buesa ls dkSu&lh O;kikj pØ dh fo’ks”krk ugha gS \ 

¼v½ iqujko`fŸk 

¼c½ lap;h 

¼l½ pØh; 

¼n½ vFkZO;oLFkk dks leku :i ls izHkkfor 

Which one is not a characteristic of business cycle ?  

(a) Restart 

(b) Cumulative  

(c) Cyclic  

(d) Effect whole economy same type  

8- lsE;qylu ds vuqlkj fu;fer O;kikj pØ ds fy, xq.kd ,oa Rojd 

dk dkSu&lk ewY; gksxk \ 

¼v½ a = .5, β = 0 

¼c½ a = .5, β = 1 

¼l½ a = .5, β = 2 

¼n½ a = σ, β = 2 

According to Samuelson, what are the values of multiplier 
and accelerator for regular business cycle ? 

(a) a = .5, β = 0 

(b) a = .5, β = 1 

(c) a = .5, β = 2 

(d) a = σ, β = 2 
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9- dkYMksj ds vuqlkj O;kikj pØ mRiUu gksrk gS % 

¼v½ cpr vkSj fuos’k oØ dk js[kh; gksukA  

¼c½ cpr vkSj fuos’k oØ dk vjs[kh; gksukA  

¼l½ cpr vkSj fuos’k dk lekukarj gksukA  

¼n½ cpr vkSj fuos’k oØ dk yEcor~ gksukA  

According to Kaldor, business cycle is originated when : 

(a) Saving and investment curve is linear shape. 

(b) Saving and investment curve is nonlinear shape. 

(c) Saving and investment curve is horizontal shape. 

(d) Saving and investment curve is vertical shape. 

10- O;kikj pØ esa fdruh voLFkk,¡ gksrh gSa \ 

¼v½ 3 

¼c½ 4 

¼l½ 5 

¼n½ 6 

How many phases are there in business cycle ? 

(a) 3 

(b) 4 

(c) 5 

(d) 6 
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11- ykWQj oØ O;k[;k djrk gS % 

¼v½ cpr vkSj fuos’k esa laca/k  

¼c½ vk; vkSj ykxr esa laca/k  

¼l½ dj dh nj vkSj dj vk; esa laca/k  

¼n½ dj vkSj JeiwfrZ esa laca/k  

Loffer curve explains : 

(a) Relation between saving and investment  

(b) Relation between income and cost  

(c) Relation between tax rate and tax revenue  

(d) Relation between tax and supply of labour  

12- LM oØ O;k[;k djrk gS % 

¼v½ eqnzk cktkj 

¼c½ lk[k cktkj 

¼l½ okLrfod cktkj 

¼n½ C;kt cktkj 

LM curve explains : 

(a) Money market 

(b) Credit market 

(c) Real market 

(d) Interest market 
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13- tc eqnzk iwfrZ c<+rh gS rks LM oØ f[kldrk gS % 

¼v½ ck;ha vksj  

¼c½ nk;ha vksj  

¼l½ Åij 

¼n½ uhps  

When supply of money increased LM curve shifted : 

(a) Left side  

(b) Right side  

(c) Upper  

(d) Below  

14- dj esa deh gksus ls IS oØ dh fLFkfr D;k gksxh \ 

¼v½ ck;ha vksj f[kldsxk 

¼c½ nk;ha vksj f[kldsxk 

¼l½ <ky eas o`f) 

¼n½ vf/kd piVk 

Decrease tax what happens in IS curve situation ? 

(a) Shift left side  

(b) Shift right side  

(c) Increase in slope  

(d) More flater  
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15- tc LM oØ vf/kd ykspnkj gksxk rc ekSfnzd uhfr gksxh % 

¼v½ de izHkkoh 

¼c½ vf/kd izHkkoh 

¼l½ izHkkoghu 

¼n½ mi;qZDr esa ls dskbZ ugha  

When LM curve is more elastic, monetary policy will be : 

(a) Less effective  

(b) More effective  

(c) Effectless 

(d) None of the above  

16- eanh eas dkSu&lh uhfr izHkkoiw.kZ gksrh gS \ 

¼v½ jktdks”kh;  

¼c½ ekSfnzd 

¼l½ lk[k 

¼n½ mi;qZDr lHkh  

Which policy is effective in depression ? 

(a) Fiscal  

(b) Monetary  

(c) Credit  

(d) All of the above  

17- jsiks jsV Hkkx gS % 

¼v½ ekSfnzd uhfr dk 

¼c½ jktdks”kh; uhfr dk 

¼l½ lk[k uhfr dk 

¼n½ C;kt uhfr dk 
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Repo rate is a part of : 

(a) Monetary Policy 

(b) Fiscal Policy 

(c) Credit Policy 

(d) Interest Policy 

18- ,d #i;s ds uksV ij fdldk gLrk{kj gksrk gS \ 

¼v½ iz/kkuea=h 

¼c½ jk”Vªifr 

¼l½ foŸkea=h 

¼n½ foŸk lfpo  

Who signs one rupee note ?  

(a) Prime Minister 

(b) President  

(c) Finance Minister 

(d) Finance Secretary  

19- dkSu&lk dk;Z O;kikfjd cSad dk ugha gS \ 

¼v½ uksV fuxZeu dk vf/kdkj 

¼c½ _.k nsuk 

¼l½ lk[k fuekZ.k  

¼n½ mi;qZDr eas ls dksbZ ugha  

Which one is not a function of Commercial Bank ? 

(a) The note issuing power  

(b) Advancing loan  

(c) Credit generation  

(d) None of the above  
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20- fjtoZ cSad vkWQ bafM;k dh LFkkiuk dc gqbZ Fkh \ 

¼v½ 1932 

¼c½ 1933 

¼l½ 1934 

¼n½ 1935 

When was RBI established ?  

(a) 1932 

(b) 1933 

(c) 1934 

(d) 1935 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nks ;k rhu okD;ksa eas nhft,A 

 Attempt all questions in two or three sentences. 

1- cstjksxkjh dh izkd`frd nj D;k gS \ 

What is natural rate of unemployment ? 

2- v)Z LQhfr D;k gS \ 

What is semi inflation ?  
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3- iqu#)kj dks le>kb,A  

Explain recovery.  

4- fdpu pØ dks le>kb,A 

Explain Kitchen cycle ?  

5- fQfyIl oØ D;k gS \ 

What is Phillips curve ?  

6- nh?kZdkyhu fQfyIl oØ dks Li”V dhft,A  

Clarify long term Phillips curve.  

7- fodaqafpr fQfyIl oØ dh O;k[;k dks le>kb,A  

Explain kinked Phillips curve concept. 

8- IS oØ D;k gS 

What is IS curve ? 
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(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 75 ‘kCnkas esa nhft,A 

 Attempt all questions in 75 words. 

1- pyrh gqbZ LQhfr dks Li”V dhft,A  

Explain walking inflation.  
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2- LM oØ d;k gS \ 

What is LM curve ? 

3- fjolZ jsiks jsV D;k gS \ 

What is Reverse Repo Rate ?  

4- foosd’khy izR;k’kk dks Li”V dhft,A  

Explain rational expectations. 

5- O;kikj pØ dh fo’ks”krk,¡ crkb,A  

Describe characteristics of business cycle.  

6- fgDl ds O;kikj pØ dks crkb,A  

Discuss Hicks business cycle.  

7- ekSfnzd uhfr dh midj.k crkb,A  

Describe instruments of Monetary Policy.  

8- jktdks”kh; uhfr ds mís’; crkb,A  

Discuss objectives of Fiscal Policy.  

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 150 ‘kCnksa eas nhft,A 

 Attempt all questions in 150 words. 

1- ek¡x izsfjr rFkk ykxr izsfjr LQhfr eas varj Li”V dhft,A D;k ;s rRo 

LQhfr ij vyx&vyx izHkko Mkyrs gSa \ 
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Distinguish between demand pull inflation and cost push 

inflation. Do these factors exert their pressure on inflation 

independently ? 

vFkok 

(Or) 

LQhfr ds vkfFkZd ifj.kkeksa dh O;k[;k dhft,A vFkZO;oLFkk esa LQhfrd 

nckoksa dks jksdus ds fy, vki dkSu&dkSuls mi;ksx lq>k;saxs \ 

Discuss the economic consequences of inflation. What 

measures would you recommend to check inflationary 

pressure in the economy ? 

2- dkYMksj ds O;kikj pØ dh O;k[;k dhft,A  

Explain Kaldor’s business cycle.  

vFkok 

(Or) 

xq.kd rFkk Rojd dh ijLij fØ;k ij vk/kkfjr lsE;qylu ds O;kikj 

pØ ekWMy dh foospuk dhft,A  

Discuss Samuelson’s model of business cycle based on 

multiplier-accelerator interaction.  

3- LQhfr ,oa eanh ds le; ekSfnzd uhfr ,oa jktdks”kh; uhfr dh Hkwfedk 

dks le>kb,A  

Explain the role of monetary policy and fiscal policy under 

situation of inflation and depression.  
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vFkok 

(Or) 

IS-LM oØ dh lgk;rk ls okLrfod rFkk ekSfnzd {ks=ksa ds lkE; dh 

O;k[;k dhft,A  

Explain equilibrium of real and monetary sectors with the 

help of IS-LM curve.  

4- O;kikfjd cSad lk[k fuekZ.k djrs gSaA Li”V dhft,A  

Commercial Bank creates credit generations. Explain.  

vFkok 

(Or) 

dsanzh; cSad dh lk[k fu;a=.k uhfr;ksa dh ppkZ dhft,A 

Explain credit control policies of Central Bank.  
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